


There are a certain number of people who live in different 
countries But not more than 22. They are sitting in a 
linear line, facing North. There are 3 people between A 
and D. C is sitting at 5th to the right of B. The person who 
lives in China is at 4th to the right of A.B is to the 
immediate left of the person who lives in Denmark. D is 
at the 7th position from the extreme left end.  The person 
from Denmark is sitting at 6 to the right of the person 
from China. There are 9people between the person who 
lives in china and C who lives in Switzerland. The person 
from Denmark is at7th to the left of the person from 
Singapore.
अलग-अलग देश ों में रहने वाले ल ग ों की एक नननित सोंख्या है, 
लेनकन 22 से अनिक नही ों। वे उत्तर की ओर मुख करके एक रैखखक
रेखा में बैठे हैं। A और D के बीच 3 ल ग हैं। C, B के दाईों ओर 5वें
स्थान पर बैठा है। वह व्यखि ज चीन में रहता है, वह A के दायें से
चौथे स्थान पर है। B, डेनमाकक में रहने वाले व्यखि के ठीक बायी ों
ओर है। D बाएों छ र से सातवें स्थान पर है। डेनमाकक का व्यखि चीन
के व्यखि के दायें छठे स्थान पर बैठा है। चीन में रहने वाले व्यखि
और खिट्जरलैंड में रहने वाले C के बीच 9 ल ग हैं। डेनमाकक का
व्यखि नसोंगापुर के व्यखि के बाईों ओर से सातवें स्थान पर है।



There are a certain number of people who live in different 
countries But not more than 22. They are sitting in a 
linear line, facing North. There are 3 people between A 
and D. C is sitting at 5th to the right of B. The person who 
lives in China is at4th to the right of A.B is to the 
immediate left of the person who lives in Denmark. D is 
at the 7th position from the extreme left end.  The person 
from Denmark is sitting at 6 to the right of the person 
from China. There are 9people between the person who 
lives in china and C who lives in Switzerland. The person 
from Denmark is at7th to the left of the person from 
Singapore.
Minimum how many persons are sitting in the 
arrangement?

a) 20
b) 11
c) 24
d) 26
e) 17



There are a certain number of people who live in different 
countries But not more than 22. They are sitting in a 
linear line, facing North. There are 3 people between A 
and D. C is sitting at 5th to the right of B. The person who 
lives in China is at4th to the right of A.B is to the 
immediate left of the person who lives in Denmark. D is 
at the 7th position from the extreme left end.  The person 
from Denmark is sitting at 6 to the right of the person 
from China. There are 9people between the person who 
lives in china and C who lives in Switzerland. The person 
from Denmark is at7th to the left of the person from 
Singapore.
What is the position of C with respect to D?

a) 5th to the right 
b) 10th to the left
c) Immediate left
d) 5th to the left
e) 10th to the right



There are a certain number of people who live in different 
countries But not more than 22. They are sitting in a 
linear line, facing North. There are 3 people between A 
and D. C is sitting at 5th to the right of B. The person who 
lives in China is at4th to the right of A.B is to the 
immediate left of the person who lives in Denmark. D is 
at the 7th position from the extreme left end.  The person 
from Denmark is sitting at 6 to the right of the person 
from China. There are 9people between the person who 
lives in china and C who lives in Switzerland. The person 
from Denmark is at7th to the left of the person from 
Singapore.
How many persons are sitting between C and the person 
from Singapore?

a) 4
b) 5
c) 7
d) 2
e) 3



There are a certain number of people who live in different 
countries But not more than 22. They are sitting in a 
linear line, facing North. There are 3 people between A 
and D. C is sitting at 5th to the right of B. The person who 
lives in China is at4th to the right of A.B is to the 
immediate left of the person who lives in Denmark. D is 
at the 7th position from the extreme left end.  The person 
from Denmark is sitting at 6 to the right of the person 
from China. There are 9people between the person who 
lives in china and C who lives in Switzerland. The person 
from Denmark is at7th to the left of the person from 
Singapore.
What is the position of A from the Left end ?

a) 6th

b) 3rd

c) 4th

d) 11th

e) 10th



There are a certain number of people who live in different 
countries But not more than 22. They are sitting in a 
linear line, facing North. There are 3 people between A 
and D. C is sitting at 5th to the right of B. The person who 
lives in China is at4th to the right of A.B is to the 
immediate left of the person who lives in Denmark. D is 
at the 7th position from the extreme left end.  The person 
from Denmark is sitting at 6 to the right of the person 
from China. There are 9people between the person who 
lives in china and C who lives in Switzerland. The person 
from Denmark is at7th to the left of the person from 
Singapore.
If we interchange the position of C and D then what will 
be position of B from new position of D?

a) 6th to the left
b) 8th to the right 
c) 5th to the right 
d) 5th to the left
e) 7th to the right



There are two buses namely Bus 1 and Bus 2 starts 
from the same point A in their respective journey. 
Bus 1 starting from  point A travels 2 km in East 
direction and to reach point B. From point B, Bus 1 
takes aright turn and travel 5 km to reach point C and 
from point C it travels 2 km to its left to reach point D. 
From point D Bus 1 travels 4 km North to reach point 
E and then turns to its left and travel 4 km to reach 
final destination point F and stops there. The Bus 2 
starts its journey from A and travels 3 km in West 
direction to reach point O. From point O Bus 2takes 
a right turn and travels 7 km to reach point P and 
further travels 2 km  to its right to reach point Q. 
From point Q it travels 13 km South to reach point R. 
From point R Bus 2 takes a left turn travels 1 km to 
reach point Sand stops there. 



दो बसें हैं अर्थात् बस 1 और बस 2 अपनी-अपनी यथत्रथ में एक ही 
बबिंद ुA से शुरू होती हैं। बबिंद ुA से शुरू होकर बस 1 पूर्ा ददशथ में 2 
दकमी की यथत्रथ करती ह ैऔर बबिंद ुB तक पहिंचती ह।ै बबिंद ुB स,े 
बस 1 दथईं ओर मुड़ती ह ैऔर बबिंद ुC तक पहिंचने के लिए 5 दकमी 
की यथत्रथ करती ह ैऔर बबिंद ुC से यह बबिंद ुD तक पहिंचने के लिए 
अपने बथईं ओर 2 दकमी की यथत्रथ करती ह।ै बबिंद ुD से बस 1 बबिंद ु
E तक पहिंचने के लिए 4 दकमी उत्तर की ओर यथत्रथ करती ह ैऔर 
दिर अपने बथईं ओर मुड़ती ह ैऔर अिंलतम गिंतव्य बबिंद ुF तक पहिंचने 
के लिए 4 दकमी की यथत्रथ करती ह ैऔर र्हथिं रुकती ह।ै बस 2 
अपनी यथत्रथ A से शुरू करती ह ैऔर बबिंद ुO तक पहिंचने के लिए 
पलिम ददशथ में 3 दकमी की यथत्रथ करती ह।ै बबिंद ुO से बस 2 दथएिं 
मुड़ती ह ैऔर बबिंद ुP तक पहिंचने के लिए 7 दकमी की यथत्रथ करती 
ह ैऔर बबिंद ुQ तक पहिंचने के लिए इसके दथईं ओर 2 दकमी की 
यथत्रथ करती ह।ै बबिंद ुQ, बबिंद ुR तक पहिंचने के लिए यह 13 दकमी 
दलिण की ओर यथत्रथ करती ह।ै बबिंद ुR से बस 2 बथईं ओर मुड़ती ह ै
और बबिंद ुसैंड तक पहिंचने के लिए 1 दकमी की यथत्रथ करती ह ैऔर 
र्हथिं रुकती ह।ै



Bus 1 starting from  point A travels 2 km in East direction 
and to reach point B. From point B, Bus 1 takes aright turn 
and travel 5 km to reach point C and from point C it travels 
2 km to its left to reach point D. From point D Bus 1 travels 
4 km North to reach point E and then turns to its left and 
travel 4 km to reach final destination point F and stops 
there. The Bus 2 starts its journey from A and travels 3 km 
in West direction to reach point O. From point O Bus 2takes 
a right turn and travels 7 km to reach point P and further 
travels 2 km  to its right to reach point Q. From point Q it 
travels 13 km South to reach point R. From point R Bus 2 
takes a left turn travels 1 km to reach point Sand stops 
there. Suppose a imaginary point X is in North West of A, 
from there a perpendicular is dropped on a point L which 
isin line with OB and total distance between point L and B 
is 17 km. What is the distance between the L and point O?
Suppose a imaginary point X is in North West of A, from 
there a perpendicular is dropped on a point L which isin line 
with OB and total distance between point L and B is 17 km. 
What is the distance between the L and pointO?
a) 9 km
b) 8 km
c) 7.5 km



Bus 1 starting from  point A travels 2 km in East direction 
and to reach point B. From point B, Bus 1 takes aright turn 
and travel 5 km to reach point C and from point C it travels 
2 km to its left to reach point D. From point D Bus 1 travels 
4 km North to reach point E and then turns to its left and 
travel 4 km to reach final destination point F and stops 
there. The Bus 2 starts its journey from A and travels 3 km 
in West direction to reach point O. From point O Bus 2takes 
a right turn and travels 7 km to reach point P and further 
travels 2 km  to its right to reach point Q. From point Q it 
travels 13 km South to reach point R. From point R Bus 2 
takes a left turn travels 1 km to reach point Sand stops 
there. Suppose a imaginary point X is in North West of A, 
from there a perpendicular is dropped on a point L which 
isin line with OB and total distance between point L and B 
is 17 km. What is the distance between the L and point O?
Point F is in which direction with respect to point B?
a) South West
b) North East
c) South 
d) North West
e) East



Bus 1 starting from  point A travels 2 km in East direction 
and to reach point B. From point B, Bus 1 takes aright turn 
and travel 5 km to reach point C and from point C it travels 
2 km to its left to reach point D. From point D Bus 1 travels 
4 km North to reach point E and then turns to its left and 
travel 4 km to reach final destination point F and stops 
there. The Bus 2 starts its journey from A and travels 3 km 
in West direction to reach point O. From point O Bus 2takes 
a right turn and travels 7 km to reach point P and further 
travels 2 km  to its right to reach point Q. From point Q it 
travels 13 km South to reach point R. From point R Bus 2 
takes a left turn travels 1 km to reach point Sand stops 
there. Suppose a imaginary point X is in North West of A, 
from there a perpendicular is dropped on a point L which 
isin line with OB and total distance between point L and B 
is 17 km. What is the distance between the L and point O?
Which of the following points stands in a straight line?
a) F - O – P
b) A - F – S
c) C - D – S
d) B  - E – P
e) B - A - P



Seven people – A, B, C, D, E, F and G are sitting in a 
row but not necessarily in the same order. Some are 
facing north, and some are facing south. Each of 
them has a different number of flowers numbers from 
21 to 27 but not necessarily in the same order. A and 
C are not sitting at the extreme ends and also A is 
sitting four places away to the left of C. A, who is 
facing north is sitting adjacent to the person who has 
26 flowers and that person is not sitting at the 
extreme ends. C does not have an even number of 
flowers and F is sitting at the extreme right. The sum 
of the flowers of C and B is 46. The sum of the 
flowers of F and C is 47 and they both are sitting 
adjacent to each other.  The person who has 21 
flowers is sitting at the extreme left.  Only one person 
sits between B and D and both of them facing 
opposite direction to each other. G sits adjacent to C 
and facing opposite direction to C and has flowers 
which area multiple of 3 and 9 both. More than three 
persons are facing north. Person sitting at the 
extreme ends are facing the same direction. E has 



सथत िोग - A, B, C, D, E, F और G एक पिंलि में बैठे हैं िेदकन 
जरूरी नहीं दक इसी क्रम में हों। कुछ कथ मुख उत्तर की ओर ह,ै और 
कुछ कथ मुख दलिण की ओर ह।ै उनमें से प्रत्येक में 21 से 27 तक 
िूिों की अिग-अिग सिंख्यथ ह ैिेदकन जरूरी नहीं दक इसी क्रम में 
हों। A और C अिंलतम छोर पर नहीं बैठे हैं और A, C के बथईं ओर 
चथर स्र्थन दरू बैठथ ह।ै A, लजसकथ मुख उत्तर की ओर ह,ै उस 
व्यलि के बगि में बैठथ ह ैलजसके पथस 26 िूि हैं और र्ह व्यलि 
अिंलतम छोर पर नहीं बैठथ ह ै. C के पथस सम सिंख्यथ में िूि नहीं हैं 
और F सबसे दथईं ओर बैठथ ह।ै C और B के िूिों कथ योग 46 ह।ै 
F और C के िूिों कथ योग 47 ह ैऔर र्े दोनों एक दसूरे के बगि में 
बैठे हैं। लजस व्यलि के पथस 21 िूि हैं र्ह सबसे बथईं ओर बैठथ ह।ै 
B और D के बीच केर्ि एक व्यलि बैठथ ह ैऔर दोनों एक दसूरे के 
लर्परीत ददशथ कथ सथमनथ कर रह ेहैं। G, C के बगि में बैठथ ह ैऔर 
C के लर्परीत ददशथ की ओर मुख करके बैठथ ह ैऔर उसके पथस िूि 
हैं लजनकथ िेत्रिि 3 और 9 दोनों के गुणज हैं। तीन से अलिक 
व्यलि उत्तर ददशथ की ओर मुख दकये हए हैं। अिंलतम छोर पर बैठे 
व्यलि कथ मुख समथन ददशथ की ओर ह।ै E में B से अलिक िूि हैं 
िेदकन C से कम हैं और उसकथ मुख दलिण की ओर ह।ै E के 
लनकटतम पड़ोलसयों कथ मुख एक दसूरे के समथन ददशथ में ह।ै



A and C are not sitting at the extreme ends and also A 
is sitting four places away to the left of C. A, who is 
facing north is sitting adjacent to the person who has 
26 flowers and that person is not sitting at the extreme 
ends. C does not have an even number of flowers and 
F is sitting at the extreme right. The sum of the flowers 
of C and B is 46. The sum of the flowers of F and C is 
47 and they both are sitting adjacent to each other.  
The person who has 21 flowers is sitting at the extreme 
left.  Only one person sits between B and D and both of 
them facing opposite direction to each other. G sits 
adjacent to C and facing opposite direction to C and 
has flowers which area multiple of 3 and 9 both. More 
than three persons are facing north. Person sitting at 
the extreme ends are facing the same direction. E has 
more flowers than B but less than C and is facing 
south. Immediate neighbors of E face same direction to 
each other.
Which person has 21 flowers?
a) B
b) C



A and C are not sitting at the extreme ends and also A 
is sitting four places away to the left of C. A, who is 
facing north is sitting adjacent to the person who has 
26 flowers and that person is not sitting at the extreme 
ends. C does not have an even number of flowers and 
F is sitting at the extreme right. The sum of the flowers 
of C and B is 46. The sum of the flowers of F and C is 
47 and they both are sitting adjacent to each other.  
The person who has 21 flowers is sitting at the extreme 
left.  Only one person sits between B and D and both of 
them facing opposite direction to each other. G sits 
adjacent to C and facing opposite direction to C and 
has flowers which area multiple of 3 and 9 both. More 
than three persons are facing north. Person sitting at 
the extreme ends are facing the same direction. E has 
more flowers than B but less than C and is facing 
south. Immediate neighbors of E face same direction to 
each other.
Who is sitting two places away to the right of D?
a) B
b) C



A and C are not sitting at the extreme ends and also A 
is sitting four places away to the left of C. A, who is 
facing north is sitting adjacent to the person who has 
26 flowers and that person is not sitting at the extreme 
ends. C does not have an even number of flowers and 
F is sitting at the extreme right. The sum of the flowers 
of C and B is 46. The sum of the flowers of F and C is 
47 and they both are sitting adjacent to each other.  
The person who has 21 flowers is sitting at the extreme 
left.  Only one person sits between B and D and both of 
them facing opposite direction to each other. G sits 
adjacent to C and facing opposite direction to C and 
has flowers which area multiple of 3 and 9 both. More 
than three persons are facing north. Person sitting at 
the extreme ends are facing the same direction. E has 
more flowers than B but less than C and is facing 
south. Immediate neighbors of E face same direction to 
each other.
In which position is E sitting from the extreme left?
a) 2nd

b) 3rd



A and C are not sitting at the extreme ends and also A 
is sitting four places away to the left of C. A, who is 
facing north is sitting adjacent to the person who has 
26 flowers and that person is not sitting at the extreme 
ends. C does not have an even number of flowers and 
F is sitting at the extreme right. The sum of the flowers 
of C and B is 46. The sum of the flowers of F and C is 
47 and they both are sitting adjacent to each other.  
The person who has 21 flowers is sitting at the extreme 
left.  Only one person sits between B and D and both of 
them facing opposite direction to each other. G sits 
adjacent to C and facing opposite direction to C and 
has flowers which area multiple of 3 and 9 both. More 
than three persons are facing north. Person sitting at 
the extreme ends are facing the same direction. E has 
more flowers than B but less than C and is facing 
south. Immediate neighbors of E face same direction to 
each other.
The sum of flowers of which two people is 53?
a) G & B 
b) G & D



A and C are not sitting at the extreme ends and also A 
is sitting four places away to the left of C. A, who is 
facing north is sitting adjacent to the person who has 
26 flowers and that person is not sitting at the extreme 
ends. C does not have an even number of flowers and 
F is sitting at the extreme right. The sum of the flowers 
of C and B is 46. The sum of the flowers of F and C is 
47 and they both are sitting adjacent to each other.  
The person who has 21 flowers is sitting at the extreme 
left.  Only one person sits between B and D and both of 
them facing opposite direction to each other. G sits 
adjacent to C and facing opposite direction to C and 
has flowers which area multiple of 3 and 9 both. More 
than three persons are facing north. Person sitting at 
the extreme ends are facing the same direction. E has 
more flowers than B but less than C and is facing 
south. Immediate neighbors of E face same direction to 
each other.
Who sits second to the right of G?

a) B



Which of the following symbols should be 
placed in blank spaces (from left to right) 
in order to complete the given expression 
that makes the expression C > R 
definitely True?
_ >_<_=_>_

a) C, H, A, I, R
b) C, R, O, W, S
c) C, H, A, R, M
d) C, A, R, E, S
e) None of the above



Which of the following symbols should be 
placed in the blank spaces respectively 
(in the same orderfrom left to right) in 
order to complete the given expression in 
such a manner that “Y < C” and “B >Y” 
definitely holds true?
C _ Z _ Y _ B

a) ≥, ≥, <
b) ≤, <, =
c) >, >, <
d) ≥, =, >
e) None of these



In which of the following statements does 
the expression 'P < U' is definitely true.

a) M > N ≥ O = P > R > U
b) M > U > O = P ≥ R > N
c) M > U ≥ O = P > R > Q
d) M > U  ≥ O = P ≥ R > N
e) U ≥ M ≥ O = P > R > Q



Statements:
Only a few relations are doubtful
No artificial is real
Some doubtful are real
Conclusions:
I. Some doubtful being real are not 

artificial
II. All doubtful can be artificial
III. Atleast few real are relations

a) Only conclusion I follows 
b) Only conclusions I and III follows
c) Only conclusion II and III follows 
d) Only conclusion III follows 
e) Only conclusion I, II and III follows.



Statements:
Some people are honest
Only a few people are good
All good are ra
Conclusions:
I. All good being honest is a possibility
II. All honest being Ram is a possibility
III. Atleast few Ram are people

a) Only conclusion I and II follows 
b) Only conclusion II and III follows 
c) Only conclusion I follows
d) Only conclusion III follows 
e) All follows



Statements:
Only a few Writers are criticized
Few believers are Writers
No Dentist is criticized
Conclusions:
I. At least some Writers are Dentist
II. All criticized being believers is a 

possibility
III. At least some believers are dentists.

a) Only conclusion I follows
b) Only conclusion II follows
c) Only conclusion III follow
d) None follows
e) Either conclusion I or II follows



Statement: 
Prime Minister Shinzo Abe’s ruling coalition 
scored a landslide victory at the polls, boosted 
by his campaign promises to invest more 
heavily in education and childcare, aimed 
partly at encouraging more women to join the 
workforce.
Assumptions:
1. The number of women workers in Japan 

are lesser than men.
2. Women are reluctant to join the workforce 

because of education and childcare.
a) Only 1
b) Only 2
c) Either 1 or 2
d) Neither 1 nor 2
e) Both 1 and 2



कर्न:
प्रिथन मिंत्री बशिंजो आबे के सत्तथरूढ़ गठबिंिन ने चुनथर्ों में 
भथरी जीत हथलसि की, जो दक लशिथ और बथि दखेभथि में 
अलिक भथरी लनर्ेश करने के उनके अलभयथन के र्थद ेसे 
प्रेररत ह,ै लजसकथ उद्देश्य आिंलशक रूप से अलिक मलहिथओं 
को कथयाबि में शथलमि होने के लिए प्रोत्सथलहत करनथ ह।ै
िथरणथएँ:
I. जथपथन में मलहिथ श्रलमकों की सिंख्यथ पुरुषों की तुिनथ 

में कम ह।ै
II. लशिथ और बच्चों की दखेभथि के कथरण मलहिथएिं 

कथयाबि में शथलमि होने से लििकती हैं।
a) केर्ि 1
b) केर्ि 2
c) यथ तो 1 यथ 2
d) न 1 न 2
e) 1 और 2 दोनों



Statement: Malaysia has set up a trust fund for 
the public to donate money in order to help the 
government repay the country's debt. 
Malaysia's Finance Ministry said the fund would 
be called Malaysia Hope Fund and the 
contributions must be made in cash. Will this 
help to gain financial stability?
Arguments:
I. Yes, Malaysia's national debt amounts to 

$250.8 billion which is 80% of its GDP.
II. No, Malaysia's debt amounts to $250.8 

billion which is 8% of its national GDP.
III. Yes, 80% of Malaysia's GDP amounts to the 

debt amount of about $250.8 billion.
a) None is strong.
b) Only I and III are strong.
c) Only II and III are strong.
d) Only I is strong.
e) All are strong.



कर्न: मिेलशयथ ने सरकथर को दशे कथ कजा चुकथने में मदद 
करने के लिए जनतथ को िन दथन करने के लिए एक ट्रस्ट ििं ड 
की स्र्थपनथ की ह।ै मिेलशयथ के लर्त्त मिंत्रथिय ने कहथ दक 
इस ििं ड को मिेलशयथ होप ििं ड कहथ जथएगथ और योगदथन 
नकद में दकयथ जथनथ चथलहए। क्यथ इससे लर्त्तीय लस्र्रतथ 
हथलसि करने में मदद लमिेगी?
तका :
I. हथँ, मिेलशयथ कथ रथष्ट्रीय ऋण $250.8 लबलियन ह ैजो 

दक उसके सकि घरेिू उत्पथद कथ 80% ह।ै
II. नहीं, मिेलशयथ कथ कर्जा $250.8 लबलियन है जो उसकी 

रथष्ट्रीय जीडीपी कथ 8% ह।ै
III. जी हथिं, मिेलशयथ की जीडीपी कथ 80 िीसदी लहस्सथ 

करीब 250.8 अरब डॉिर के कजा के बरथबर ह।ै
a) कोई भी मजबूत नहीं है.
b) केर्ि I और III मजबूत हैं।
c) केर्ि II और III मजबूत हैं।
d) केर्ि मैं ही मजबूत हिं.
e) सभी मजबूत हैं.



There are seven boxes i.e. A, B, C, D, E, F and 
G which are of different colour and kept one 
above the other. The boxes are of different 
weights. Only two boxes are kept between box 
A and box C. Pink colour box is kept 
immediately below C. Box A is of Blue colour. 
There is only one box kept between the Pink 
colour box and the Black colour box. The blue 
colour box is kept above the Black colour box. 
Only two boxes are lighter than the Blue colour
box. Only three boxes are kept between Red 
colour and Black colour box. The white colour
box is heavier than Red colour box but just 
lighter than the Black colour box. The pink 
colour box is just lighter than Red colour box. 
The black colour box is not the heaviest. Only 
two boxes are kept between box F and Red 
colour box. Box F is lighter than box E which is 
kept immediately below box F. Black colour box 



सथत लडब्बे अर्थात ्A, B, C, D, E, F और G हैं जो अिग-
अिग रिंग के हैं और एक के ऊपर एक रखे हए हैं। बक्से
अिग-अिग र्जन के हैं। बॉक्स A और बॉक्स C के बीच 
केर्ि दो बॉक्स रखे गए हैं। गुिथबी रिंग कथ बॉक्स C के ठीक 
नीचे रखथ गयथ ह।ै बॉक्स A नीिे रिंग कथ ह।ै गिुथबी रिंग के 
लडब्बे और कथिे रिंग के लडब्बे के बीच केर्ि एक लडब्बथ रखथ 
गयथ ह।ै नीिे रिंग कथ लडब्बथ कथिे रिंग के लडब्बे के ऊपर रखथ 
गयथ ह।ै केर्ि दो लडब्बे नीिे रिंग के लडब्बे से हल्के हैं। िथि 
रिंग और कथिे रिंग के लडब्बे के बीच केर्ि तीन लडब्बे रखे गए 
हैं। सिेद रिंग कथ लडब्बथ िथि रिंग के लडब्बे से भथरी ह ैिेदकन 
कथिे रिंग के लडब्बे से हल्कथ ह।ै गुिथबी रिंग कथ लडब्बथ िथि 
रिंग के लडब्बे से हल्कथ ह।ै कथिे रिंग कथ लडब्बथ सबस ेभथरी 
नहीं ह.ै लडब्बथ F और िथि रिंग के लडब्बे के बीच केर्ि दो 
लडब्बे रखे गए हैं। बॉक्स F, बॉक्स E से हल्कथ ह,ै जो बॉक्स 
F के ठीक नीचे रखथ गयथ ह।ै कथिे रिंग कथ बॉक्स, बॉक्स D 
से ठीक हल्कथ ह।ै बॉक्स E और बॉक्स B के बीच केर्ि एक 
बॉक्स रखथ गयथ ह।ै बॉक्स G, हरे रिंग के बॉक्स के ठीक नीचे 
रखथ गयथ ह।ै इनमें से एक लडब्बथ पीिे रिंग कथ है। सफेद 
लडब्बथ गुिथबी लडब्बे के ऊपर रखथ गयथ ह।ै



Only two boxes are kept between box A and box C. 
Pink colour box is kept immediately below C. Box A 
is of Blue colour. There is only one box kept between 
the Pink colour box and the Black colour box. The 
blue colour box is kept above the Black colour box. 
Only two boxes are lighter than the Blue colour box. 
Only three boxes are kept between Red colour and 
Black colour box. The white colour box is heavier 
than Red colour box but just lighter than the Black 
colour box. The pink colour box is just lighter than 
Red colour box. The black colour box is not the 
heaviest. Only two boxes are kept between box F 
and Red colour box. Box F is lighter than box E 
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept 
between box E and box B. Box G is kept immediately 
below the green colour box. One of the boxes is of 
Yellow colour. The white box is kept above the pink 
box.
How many boxes are kept below the box which is 
just lighter than the box D?
a) Five



Only two boxes are kept between box A and box C. 
Pink colour box is kept immediately below C. Box A 
is of Blue colour. There is only one box kept between 
the Pink colour box and the Black colour box. The 
blue colour box is kept above the Black colour box. 
Only two boxes are lighter than the Blue colour box. 
Only three boxes are kept between Red colour and 
Black colour box. The white colour box is heavier 
than Red colour box but just lighter than the Black 
colour box. The pink colour box is just lighter than 
Red colour box. The black colour box is not the 
heaviest. Only two boxes are kept between box F 
and Red colour box. Box F is lighter than box E 
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept 
between box E and box B. Box G is kept immediately 
below the green colour box. One of the boxes is of 
Yellow colour. The white box is kept above the pink 
box.
Which of the following box is of Green color?
a) Box D
b) Box B



Only two boxes are kept between box A and box C. 
Pink colour box is kept immediately below C. Box A 
is of Blue colour. There is only one box kept between 
the Pink colour box and the Black colour box. The 
blue colour box is kept above the Black colour box. 
Only two boxes are lighter than the Blue colour box. 
Only three boxes are kept between Red colour and 
Black colour box. The white colour box is heavier 
than Red colour box but just lighter than the Black 
colour box. The pink colour box is just lighter than 
Red colour box. The black colour box is not the 
heaviest. Only two boxes are kept between box F 
and Red colour box. Box F is lighter than box E 
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept 
between box E and box B. Box G is kept immediately 
below the green colour box. One of the boxes is of 
Yellow colour. The white box is kept above the pink 
box.
Which of the following box is the lightest?
a) Box E
b) Box D



Only two boxes are kept between box A and box C. 
Pink colour box is kept immediately below C. Box A 
is of Blue colour. There is only one box kept between 
the Pink colour box and the Black colour box. The 
blue colour box is kept above the Black colour box. 
Only two boxes are lighter than the Blue colour box. 
Only three boxes are kept between Red colour and 
Black colour box. The white colour box is heavier 
than Red colour box but just lighter than the Black 
colour box. The pink colour box is just lighter than 
Red colour box. The black colour box is not the 
heaviest. Only two boxes are kept between box F 
and Red colour box. Box F is lighter than box E 
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept 
between box E and box B. Box G is kept immediately 
below the green colour box. One of the boxes is of 
Yellow colour. The white box is kept above the pink 
box.
How many boxes are lighter than the box which is 
kept immediately below A?
a) One 



Only two boxes are kept between box A and box C. 
Pink colour box is kept immediately below C. Box A 
is of Blue colour. There is only one box kept between 
the Pink colour box and the Black colour box. The 
blue colour box is kept above the Black colour box. 
Only two boxes are lighter than the Blue colour box. 
Only three boxes are kept between Red colour and 
Black colour box. The white colour box is heavier 
than Red colour box but just lighter than the Black 
colour box. The pink colour box is just lighter than 
Red colour box. The black colour box is not the 
heaviest. Only two boxes are kept between box F 
and Red colour box. Box F is lighter than box E 
which is kept immediately below box F. Black colour
box is just lighter than box D. Only one box kept 
between box E and box B. Box G is kept immediately 
below the green colour box. One of the boxes is of 
Yellow colour. The white box is kept above the pink 
box.
Box C is of which color box?
a) Green
b) Red



Six persons are born in six different years. Their 
ages are calculated with respect to 2018. They like 
six different fruits Cherry, Orange, Apple, Mango, 
Banana and Grapes, but not necessarily in the same 
order. None of them is More than 90 years old. 
Note: If the person age is considered as last two 
digits of the person Birth year, then it will be at any 
sequence. For example, A’s age is considered as 
last two digit of B’s birth year-1947, and then A’s age 
is either 47 or 74. The one who is third youngest 
among them likes Apple. Manika was elder than 
Charu. The age difference between Tarun and the 
one who likes cherry is 21 years. Visakha age was 
sum of all the digits of birth year of the one who like 
cherry. The one who likes Mango is 5 years elder 
than Visakha. Only one person born was before 
Arko. Arko age was equal to the last two digits of the 
birth year of the one who likes Mango. The difference 
between Ages of Arko and Viraj was 24 years. The 
one who likes Banana born immediately before the 
one who likes Grapes. Tarun was born in 1983.



छह व्यलि छह अिग-अिग र्षों में पैदथ हए हैं। उनकी उम्र की 
गणनथ 2018 के सिंबिंि में की गई ह।ै उन्हें छह अिग-अिग िि 
चेरी, सिंतरथ, सेब, आम, केिथ और अिंगूर पसिंद हैं, िेदकन जरूरी 
नहीं दक इसी क्रम में हों। इनमें से कोई भी 90 र्षा से अलिक पुरथनथ 
नहीं ह।ै
नोट: यदद व्यलि की आयु को व्यलि के जन्म र्षा के अिंलतम दो अिंकों 
के रूप में मथनथ जथतथ ह,ै तो यह दकसी भी क्रम में होगथ। उदथहरण 
के लिए, A की आयु को B के जन्म र्षा-1947 के अिंलतम दो अिंकों के 
रूप में मथनथ जथतथ ह,ै और दिर A की आयु यथ तो 47 यथ 74 ह।ै 
जो उनमें से तीसरथ सबसे छोटथ है, उसे Apple पसिंद ह।ै मलनकथ 
चथरु से बड़ी र्ी. तरूण और चेरी पसिंद करने र्थिे व्यलि के बीच 
उम्र कथ अिंतर 21 र्षा ह।ै लर्शथखथ की उम्र चेरी पसिंद करने र्थिे 
व्यलि के जन्म र्षा के सभी अिंकों कथ योग र्ी। लजसे आम पसिंद ह ै
र्ह लर्शथखथ से 5 र्षा बड़थ ह।ै अको से पहिे केर्ि एक व्यलि कथ 
जन्म हआ र्थ। अरको की उम्र आम पसिंद करने र्थिे व्यलि के जन्म 
र्षा के अिंलतम दो अिंकों के बरथबर र्ी। अरको और लर्रथज की उम्र के 
बीच कथ अिंतर 24 र्षा र्थ। लजस व्यलि को केिथ पसिंद ह ैउसकथ 
जन्म अिंगूर पसिंद करने र्थिे व्यलि के ठीक पहिे हआ ह।ै तरूण कथ 
जन्म 1983 में हआ र्थ।



The one who is third youngest among them 
likes Apple. Manika was elder than Charu. 
The age difference between Tarun and the 
one who likes cherry is 21 years. Visakha age 
was sum of all the digits of birth year of the 
one who like cherry. The one who likes Mango 
is 5 years elder than Visakha. Only one 
person born was before Arko. Arko age was 
equal to the last two digits of the birth year of 
the one who likes Mango. The difference 
between Ages of Arko and Viraj was 24 years. 
The one who likes Banana born immediately 
before the one who likes Grapes. Tarun was 
born in 1983.
Who among the following persons likes 
Orange?
a) None of those given as options
b) Arko



The one who is third youngest among them 
likes Apple. Manika was elder than Charu. 
The age difference between Tarun and the 
one who likes cherry is 21 years. Visakha age 
was sum of all the digits of birth year of the 
one who like cherry. The one who likes Mango 
is 5 years elder than Visakha. Only one 
person born was before Arko. Arko age was 
equal to the last two digits of the birth year of 
the one who likes Mango. The difference 
between Ages of Arko and Viraj was 24 years. 
The one who likes Banana born immediately 
before the one who likes Grapes. Tarun was 
born in 1983.
What is the age of the one who likes Apple?
a) 31 years
b) 46 years
c) 59 years



The one who is third youngest among them 
likes Apple. Manika was elder than Charu. 
The age difference between Tarun and the 
one who likes cherry is 21 years. Visakha age 
was sum of all the digits of birth year of the 
one who like cherry. The one who likes Mango 
is 5 years elder than Visakha. Only one 
person born was before Arko. Arko age was 
equal to the last two digits of the birth year of 
the one who likes Mango. The difference 
between Ages of Arko and Viraj was 24 years. 
The one who likes Banana born immediately 
before the one who likes Grapes. Tarun was 
born in 1983.
What will be the sum of ages of the youngest 
and the eldest person among them?
a) 99 years
b) 87 years



The one who is third youngest among them 
likes Apple. Manika was elder than Charu. 
The age difference between Tarun and the 
one who likes cherry is 21 years. Visakha age 
was sum of all the digits of birth year of the 
one who like cherry. The one who likes Mango 
is 5 years elder than Visakha. Only one 
person born was before Arko. Arko age was 
equal to the last two digits of the birth year of 
the one who likes Mango. The difference 
between Ages of Arko and Viraj was 24 years. 
The one who likes Banana born immediately 
before the one who likes Grapes. Tarun was 
born in 1983.
Who among the following likes Banana?
a) Viraj
b) Tarun
c) Charu



There are eight people A, B, C, D, E, F, G and 
H are sitting around a circular table. All of 
them are facing towards center. They all are of 
different age viz. 3, 7, 10, 14, 17, 19, 21 and 
24 years but not necessarily in the same 
order. The one whose age is 10 year sits third 
to the left of one whose age is  19 year. The 
age of C is not 17 year. Only one person sit 
between who is 17 year old and who is 19 
year old. D is an immediate neighbor of the 
one who is7 year old but his age is not a prime 
number. Only one person sits between E and 
H. E is older than H but not oldest. The one 
who is 7 year old is second to the left of the 
one who is 10 year old. B is of 21 year old and 
sits immediate to the right of G, who is 
youngest among them. Two person sits 



आठ िोग A, B, C, D, E, F, G और H एक गोिथकथर 
मेज के चथरों ओर बैठे हैं। र्े सभी कें द्र की ओर सम्मुख हैं। र्े 
सभी अिग-अिग उम्र के हैं। 3, 7, 10, 14, 17, 19, 21
और 24 र्षा िेदकन जरूरी नहीं दक इसी क्रम में हों। र्ह 
व्यलि लजसकी आयु 10 र्षा ह,ै र्ह उस व्यलि के बथएिं से 
तीसरे स्र्थन पर बैठथ ह ैलजसकी आयु 19 र्षा ह।ै C की 
आयु 17 र्षा नहीं ह.ै 17 र्षा कथ व्यलि और 19 र्षा कथ 
व्यलि के बीच केर्ि एक व्यलि बैठथ ह।ै D उस व्यलि कथ 
लनकटतम पड़ोसी ह ैजो 7 र्षा कथ ह ैिेदकन उसकी उम्र 
अभथज्य सिंख्यथ नहीं ह।ै E और H के बीच केर्ि एक व्यलि 
बैठथ ह।ै E, H से बड़थ ह ैिेदकन सबसे बड़थ नहीं ह।ै जो 7 
र्षा कथ ह ैर्ह 10 र्षा के व्यलि के बथएिं से दसूरे स्र्थन पर 
ह।ै B 21 र्षा कथ ह ैऔर G के ठीक दथयें बैठथ ह,ै जो उनमें 
सबसे छोटथ ह।ै G और C के बीच दो व्यलि बैठे हैं, लजनकी 
उम्र एक अभथज्य सिंख्यथ ह।ै A की आयु C की आयु से 
दोगुनी ह ैऔर र्ह F के लर्परीत बैठथ ह।ै



The one whose age is 10 year sits third to the 
left of one whose age is  19 year. The age of 
C is not 17 year. Only one person sit between 
who is 17 year old and who is 19 year old. D is 
an immediate neighbor of the one who is7 
year old but his age is not a prime number. 
Only one person sits between E and H. E is 
older than H but not oldest. The one who is 7 
year old is second to the left of the one who is 
10 year old. B is of 21 year old and sits 
immediate to the right of G, who is youngest 
among them. Two person sits between G and 
C, whose age is a prime number. Age of A is 
twice of the age of C and he sits opposite to F. 
What is the age of D?
a) 10 years
b) 14 years
c) 24 years



The one whose age is 10 year sits third to the 
left of one whose age is  19 year. The age of 
C is not 17 year. Only one person sit between 
who is 17 year old and who is 19 year old. D is 
an immediate neighbor of the one who is7 
year old but his age is not a prime number. 
Only one person sits between E and H. E is 
older than H but not oldest. The one who is 7 
year old is second to the left of the one who is 
10 year old. B is of 21 year old and sits 
immediate to the right of G, who is youngest 
among them. Two person sits between G and 
C, whose age is a prime number. Age of A is 
twice of the age of C and he sits opposite to F. 
Who among the following sits second to the 
left of E?
a) The person whose age is 14. 
b) The person whose age is 3.



The one whose age is 10 year sits third to the left of 
one whose age is  19 year. The age of C is not 17 
year. Only one person sit between who is 17 year old 
and who is 19 year old. D is an immediate neighbor 
of the one who is7 year old but his age is not a prime 
number. Only one person sits between E and H. E is 
older than H but not oldest. The one who is 7 year 
old is second to the left of the one who is 10 year old. 
B is of 21 year old and sits immediate to the right of 
G, who is youngest among them. Two person sits 
between G and C, whose age is a prime number. 
Age of A is twice of the age of C and he sits opposite 
to F. 
How many people sit between B and C when 
counted in anticlockwise direction?
a) One
b) Two
c) Three
d) Four
e) Five



The one whose age is 10 year sits third to the left of 
one whose age is  19 year. The age of C is not 17 
year. Only one person sit between who is 17 year old 
and who is 19 year old. D is an immediate neighbor 
of the one who is7 year old but his age is not a prime 
number. Only one person sits between E and H. E is 
older than H but not oldest. The one who is 7 year 
old is second to the left of the one who is 10 year old. 
B is of 21 year old and sits immediate to the right of 
G, who is youngest among them. Two person sits 
between G and C, whose age is a prime number. 
Age of A is twice of the age of C and he sits opposite 
to F. 
Which of the following statement is true regarding 
given arrangement? 

a) F sits opposite to H
b) E sits second to the left of G
c) Only two person sit between the one whose age 

in 19 and D
d) C sits second to the left of F



The one whose age is 10 year sits third to the left of 
one whose age is  19 year. The age of C is not 17 
year. Only one person sit between who is 17 year old 
and who is 19 year old. D is an immediate neighbor 
of the one who is7 year old but his age is not a prime 
number. Only one person sits between E and H. E is 
older than H but not oldest. The one who is 7 year 
old is second to the left of the one who is 10 year old. 
B is of 21 year old and sits immediate to the right of 
G, who is youngest among them. Two person sits 
between G and C, whose age is a prime number. 
Age of A is twice of the age of C and he sits opposite 
to F. 
What is the position of H with respect to D?

a) Second to the right
b) Second to the left
c) Immediate to the right
d) Immediate to the left
e) Third to the right



The one whose age is 10 year sits third to the left of 
one whose age is  19 year. The age of C is not 17 
year. Only one person sit between who is 17 year old 
and who is 19 year old. D is an immediate neighbor 
of the one who is7 year old but his age is not a prime 
number. Only one person sits between E and H. E is 
older than H but not oldest. The one who is 7 year 
old is second to the left of the one who is 10 year old. 
B is of 21 year old and sits immediate to the right of 
G, who is youngest among them. Two person sits 
between G and C, whose age is a prime number. 
Age of A is twice of the age of C and he sits opposite 
to F. 
What is the position of H with respect to D?

a) Second to the right
b) Second to the left
c) Immediate to the right
d) Immediate to the left
e) Third to the right



Direction: 

In the question below, a passage is given. From the options 

below, choose the one that reflects the assumption on which 

the passage lies.

नीचे दिए गए प्रश्न में एक गद्यांश दियय गयय है। नीचे दिए गए दिकल्पां में से, 

िह चुनें जप उस धयरणय कप िशयातय है दजस पर गद्यांश दनदहत है।



The rapid growth of the urban population has put huge 
pressure on cities and has led to a severe shortage of 
facilities. Many cities and towns are facing problems such as 
lack of jobs, homelessness and expanding squatter 
settlements, inadequate services and infrastructure, poor 
health and educational services and high levels of pollution.
a) There should be a limit on the number of people that are 

allowed to migrate from rural to urban 
b) Urban cities should be shown in a negative light so that 

people living in villages are discouraged from moving to 
cities.

c) The government should draw a plan for urban 
development and expansion.

d) People who migrate to cities should be denied healthcare 
services to avoid over-burdening of healthcare 
infrastructure.

e) Sanitation services should be adequately maintained in 
urban areas.



शहरी आबयिी की तीव्र िृद्धि ने शहरपां पर भयरी िबयि डयलय है और
सुदिधयओां की भयरी कमी हप गई है। कई शहर और कसे्ब नौकररयपां की
कमी, बेघर हपनय और बढ़ती अिैध बद्धियपां, अपययाप्त सेियओां और
बुदनययिी ढयांचे, खरयब स्वयस्थ्यऔर शैदिक सेियओां और उच्चिर के
प्रिूषण जैसी समस्ययओां कय सयमनय कर रहे हैं।
a) ग्रयमीण से शहर की ओर प्रियस करने की अनुमदत िेने ियले लपगपां की

सांख्यय की एक सीमय हपनी चयदहए
b) शहरी शहरपां कप नकयरयत्मक दृदि से दिखययय जयनय चयदहए तयदक गयांिपां

में रहने ियले लपग शहरपां की ओर जयने से हतपत्सयदहत हपां।
c) सरकयर कप शहरी दिकयस और दिियर की यपजनय बनयनी चयदहए.
d) स्वयस्थ्य िेखभयल के बुदनययिी ढयांचे पर अत्यदधक बपझ से बचने के दलए

शहरपां की ओर पलययन करने ियले लपगपां कप स्वयस्थ्य सेियओां से िांदचत
दकयय जयनय चयदहए।

e) शहरी िेत्पां में स्वच्छतय सेियओां कप पययाप्त रूप से बनयए रखय जयनय
चयदहए।



Petrol price has increased to 8.5% which makes the 
final price of petrol in the city A is INR 112.40. Due to 
the price increment, there is a significant decrease in 
petrol and diesel vehicles in City A. What can you 
understand from the above passage?
a) There is no way to decrease the price of Petrol 
b) Pollution level increased in city A
c) People may prefer electric vehicles over petrol 

and diesel vehicles.
d) City A banned Petrol and diesel vehicles
e) There is a shortage of petrol and diesel in city A



पेट्र पल की कीमत 8.5% तक बढ़ गई है दजससे शहर A में
पेट्र पल की अांदतम कीमत 112.40 रुपये हप गई है। मूल्य िृद्धि के
कयरण, शहर ए में पेट्र पल और डीजल ियहनपां में उले्लखनीय
कमी आई है। उपरपक्त पररचे्छि से आप क्यय समझ सकते हैं?
a) पेट्र पल की कीमत कम हपने कय कपई रयिय नही ां दिख रहय है
b) शहर ए में प्रिूषण कय िर बढ़य
c) लपग पेट्र पल और डीजल ियहनपां की तुलनय में इलेद्धररक
ियहनपां कप प्रयथदमकतय िे सकते हैं।

d) दसट्ी ए ने पेट्र पल और डीजल ियहनपां पर प्रदतबांध लगय दियय
e) शहर A में पेट्र पल और डीजल की कमी है



Input: 58 World 36 Query 53 79 Some Relate 68 Legend 88 Decent

Steps:

I. World 58 Query 53 79 Some Relate 68 Legend 88 Decent 36
II. 53 World 58 Query 79 Relate 68 Legend 88 Decent 36 Some  
III. Relate 53 World Query 79 68 Legend 88 Decent 36 Some 58 
IV. 68 Relate 53 World 79 Legend 88 Decent 36 Some 58 Query 
V. Legend 68 Relate 53 World 88 Decent 36 Some 58 Query 79    
VI. 88 Legend 68 Relate 53 World 36 Some 58 Query 79 Decent 

VI is the last step.



Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily



Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

The highest number in step V is _______ element from the 
right end.

a) Fifth
b) Eight
c) Seventh
d) Fourth
e) Sixth



Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

Which of the following is the fifth element from the left end in 
step V?

a) 81
b) Length
c) Yielding
d) 424
e) Progress



Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

What is the sum of first two numbers from the left end in step 
III?

a) 110
b) 149
c) 161
d) 123
e) 125



Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

In how many steps "42 Yielding 81" will come together in the 
same sequence?

a) One
b) Two
c) Three
d) Four
e) Five



Input: Input: 81 Reverse 68 Dance 35 57 Length Yielding 93 42 Progress Easily

Which of the following is the third word from the right end in 
Step IV? 

a) Easily
b) Yielding
c) Reverse
d) Progress
e) Length



Which of the following expressions is definitely 

true if the expression 

S = M ≤ T = D > C > I < N =Z 

is definitely true?

a) I = Z

b) S > C

c) C > Z

d) M ≤ C

e) I < T



Which of the following expressions will not be 

definitely true if the expression is 

A < B > C = D ≥E > F = G ≥ H 

definitely true?

a) E > H

b) C ≥ E

c) B > G

d) B < E

e) None of these



Statement:- A < C ≤ D; F > A ≤ B; E ≤ F = G

Conclusions:-

I. A < G 

II. B > C 

III. C ≤ E

a) Only conclusion (II) Follows

b) Only conclusion (III) follows

c) Only (I) and (II) follows

d) Only (I) follows

e) None follows



In an apartment, seven persons (A, B, C, D, E, F, 
and G) are staying on seven different floors where 
the topmost floor is numbered as seven and the 
bottommost floor is numbered as one. Only one 
person lives on each floor. F and E are neighbors to 
each other. A lives four floors above G. F lives above 
B, who lives immediately below G. C lives above D, 
who is an immediate neighbour of G.
एक अपयट्ामेंट् में, सयत व्यद्धक्त (A, B, C, D, E, F और G) 
सयत अलग-अलग मांदजलपां पर रह रहे हैं, जहयां सबसे ऊपरी
मांदजल की सांख्यय सयत है और सबसे दनचली मांदजल की सांख्यय
एक है। प्रते्यक मांदजल पर केिल एक व्यद्धक्त रहतय है। F और E 
एक िूसरे के पडपसी हैं। A, G से चयर मांदजल ऊपर रहतय है। F, 
B के ऊपर रहतय है, जप G के ठीक नीचे रहतय है। C, D के
ऊपर रहतय है, जप G कय दनकट्तम पडपसी है।



In an apartment, seven persons (A, B, C, D, E, F, 
and G) are staying on seven different floors where 
the topmost floor is numbered as seven and the 
bottommost floor is numbered as one. Only one 
person lives on each floor. F and E are neighbors to 
each other. A lives four floors above G. F lives above 
B, who lives immediately below G. C lives above D, 
who is an immediate neighbour of G.
Who lives on the fourth floor?

a) A
b) C
c) E
d) F
e) Can't be determined



A person walks in the east direction from point B. 
After, walking for 4km in the same direction, he took 
a right turn and walks 3km to reach point C. From 
there, he took a left turn of 4km then a right turn 
of4km and reaches point D. Then, he turns left and 
walks for 4km to reach point E. At last, he walks in 
the north direction and reaches Point P after walking 
7km.
Another person walks in the west direction from 
point A for 5km. Then, she turns right and walks for 
4km.Then, she turns right again for 5km and took a 
left turn. After walking for 3km in the same direction, 
she took a left turn again and walk for 5km to reach 
point Q. From there, she walks 7m in the west 
direction to reach Point P



एक व्यद्धक्त दबांिु B से पूिा दिशय में चलतय है। उसी दिशय में 4 
दकमी चलने के बयि, िह ियईां ओर मुडतय है और दबांिु C पर
पहांचने के दलए 3 दकमी चलतय है। िहयां से, िह 4 दकमी बयईां
ओर मुडतय है, दिर 4 दकमी ियईां ओर मुडतय है और दबांिु D पर
पहांचतय है। दिर, िह बयएां मुडतय है और दबांिु E पर पहांचने के
दलए 4 दकमी चलतय है। अांत में, िह उत्तर दिशय में चलतय है
और 7 दकमी चलने के बयि दबांिु P पर पहांचतय है।
एक अन्य व्यद्धक्त दबांिु A से पदिम दिशय में 5 दकमी चलतय है।
दिर, िह ियएां मुडती है और 4 दकमी चलती है। दिर, िह दिर
से ियएां मुडती है और 5 दकमी चलती है और बयएां मुड जयती है।
उसी दिशय में 3 दकमी चलने के बयि, िह दिर से बययी ांओर
मुडती है और दबांिु Q पर पहांचने के दलए 5 दकमी चलती है।
िहयां से, िह दबांिु P तक पहांचने के दलए पदिम दिशय में 7 मीट्र
चलती है।



A person walks in the east direction from point B. After, 
walking for 4km in the same direction, he took a right turn and 
walks 3km to reach point C. From there, he took a left turn of 
4km then a right turn of4km and reaches point D. Then, he 
turns left and walks for 4km to reach point E. At last, he walks 
in the north direction and reaches Point P after walking 7km.
Another person walks in the west direction from point A for 
5km. Then, she turns right and walks for 4km.Then, she turns 
right again for 5km and took a left turn. After walking for 3km 
in the same direction, she took a left turn again and walk for 
5km to reach point Q. From there, she walks 7m in the west 
direction to reach Point P.
What is the direction of Point E with respect to Point Q?

a) South
b) South-East
c) South-West
d) North
e) North-West



A person walks in the east direction from point B. After, 
walking for 4km in the same direction, he took a right turn and 
walks 3km to reach point C. From there, he took a left turn of 
4km then a right turn of 4km and reaches point D. Then, he 
turns left and walks for 4km to reach point E. At last, he walks 
in the north direction and reaches Point P after walking 7km.
Another person walks in the west direction from point A for 
5km. Then, she turns right and walks for 4km.Then, she turns 
right again for 5km and took a left turn. After walking for 3km 
in the same direction, she took a left turn again and walk for 
5km to reach point Q. From there, she walks 7m in the west 
direction to reach Point P.
How far and in which direction is Point Q with respect to Point 
B?
a) 19km, West
b) 17km, West
c) 19km, East
d) 17km, East
e) 16km, East



A person walks in the east direction from point B. After, 
walking for 4km in the same direction, he took a right turn and 
walks 3km to reach point C. From there, he took a left turn of 
4km then a right turn of4km and reaches point D. Then, he 
turns left and walks for 4km to reach point E. At last, he walks 
in the north direction and reaches Point P after walking 7km.
Another person walks in the west direction from point A for 
5km. Then, she turns right and walks for 4km.Then, she turns 
right again for 5km and took a left turn. After walking for 3km 
in the same direction, she took a left turn again and walk for 
5km to reach point Q. From there, she walks 7m in the west 
direction to reach Point P.
What is the position of Point B with respect to Point A 

a) Southwest
b) Southeast
c) Northwest
d) Northeast
e) West



A person walks in the east direction from 
point B. After, walking for 4km in the same 
direction, he took a right turn and walks 
3km to reach point C. From there, he took 
a left turn of 4km then a right turn of4km 
and reaches point D. Then, he turns left 
and walks for 4km to reach point E. At 
last, he walks in the north direction and 
reaches Point P after walking 7km.
Another person walks in the west direction 
from point A for 5km. Then, she turns right 
and walks for 4km.Then, she turns right 
again for 5km and took a left turn. After 
walking for 3km in the same direction, she 
took a left turn again and walk for 5km to 
reach point Q. From there, she walks 7m 
in the west direction to reach Point P



10 persons A, B, C, D, E, P, Q, R, S, and T are sitting in two parallel 
rows, equidistant to each other with five persons sitting in each row. 
Each person in row 1 is facing south and each person in row 2 is 
facing north. Each person in row one faces a person in another row. A, 
B, C, D, and E sit in row 2 whereas P, Q, R,S, and T sit in row 1. Row 
1 is in north of row 2. Each of them likes a different color i.e., Violet, 
Grey, Black, Green, White, Yellow, Blue, Orange, Red, and Pink but 
not necessarily in the same order. T is sitting second to the left of the 
one, who likes grey color. Two persons are sitting between A and C. 
The one, who likes black color is sitting third to the right of the one, 
who likes yellow color. P is sitting to the immediate right of R. P does 
not like grey color. B is facing the one, who is sitting second to the right 
of the person, who likes blue color. S is facing the one, who is sitting 
immediate right of the one, who likes white color. Two people are 
sitting between the one, who likes white color and the one, who likes 
orange color. Q and the one, who likes violet color are sitting in the 
same row but not adjacent to each other. The one, who likes pink color 
is facing the one, who is sitting second to the left of the one, who likes 
green color. The one, who likes pink color is facing the one, who is an 
immediate neighbor of the one, who likes red color. The one, who likes 
grey color is facing the one, who is sitting immediate right of C. D is 
sitting second to the left of B. The one, who likes yellow color is not 
facing the same direction as Q is facing.



10 व्यद्धक्त A, B, C, D, E, P, Q, R, S, और T एक िूसरे से समयन िूरी पर िप
समयनयांतर पांद्धक्तयपां में बैठे हैं और प्रते्यक पांद्धक्त में पयांच व्यद्धक्त बैठे हैं। पांद्धक्त 1 में
प्रते्यक व्यद्धक्त कय मुख िदिण की ओर है और पांद्धक्त 2 में प्रते्यक व्यद्धक्त कय मुख
उत्तर की ओर है। पांद्धक्त में प्रते्यक व्यद्धक्त कय मुख िूसरी पांद्धक्त के व्यद्धक्त से है। A, 
B, C, D, और E पांद्धक्त 2 में बैठे हैं जबदक P, Q, R, S, और T पांद्धक्त 1 में बैठे हैं।
पांद्धक्त 1 पांद्धक्त 2 के उत्तर में है। उनमें से प्रते्यक कप एक अलग रांग पसांि है ययनी, 
बैंगनी, गे्र, कयलय, हरय, सिेि, पीलय, नीलय, नयरांगी, लयल और गुलयबी लेदकन जरूरी
नही ां दक इसी क्रम में हपां। T उस व्यद्धक्त के बयएां से िूसरे स्थयन पर बैठय है, दजसे गे्र रांग
पसांि है। A और C के बीच िप व्यद्धक्त बैठे हैं। िह व्यद्धक्त, दजसे कयलय रांग पसांि है, 
िह उस व्यद्धक्त के ियईां ओर तीसरे स्थयन पर बैठय है, दजसे पीलय रांग पसांि है। P, R 
के दनकट्तम ियएां बैठय है। P कप गे्र रांग पसांि नही ां है। B कय मुख उस व्यद्धक्त की
ओर है, जप नीलय रांग पसांि करने ियले व्यद्धक्त के ियएँ से िूसरे स्थयन पर बैठय है। S 
उस व्यद्धक्त के समु्मख है, जप उस व्यद्धक्त के ठीक ियएँ बैठय है, दजसे सफेि रांग पसांि
है। सिेि रांग पसांि करने ियले और नयरांगी रांग पसांि करने ियले व्यद्धक्त के बीच िप
व्यद्धक्त बैठे हैं। Q और िह, दजसे बैंगनी रांग पसांि है, एक ही पांद्धक्त में बैठे हैं लेदकन
एक-िूसरे के बगल में नही ां। िह व्यद्धक्त, दजसे गुलयबी रांग पसांि है, उस व्यद्धक्त के
समु्मख है, जप हरय रांग पसांि करने ियले व्यद्धक्त के बयईां ओर िूसरे स्थयन पर बैठय है।
िह व्यद्धक्त, दजसे गुलयबी रांग पसांि है, उसकय मुख उस व्यद्धक्त की ओर है, जप उस
व्यद्धक्त कय दनकट्तम पडपसी है, दजसे लयल रांग पसांि है। िह व्यद्धक्त, दजसे गे्र रांग
पसांि है, उसकय मुख उस व्यद्धक्त की ओर है, जप C के ठीक ियएँ बैठय है।



T is sitting second to the left of the one, who likes grey color. Two persons are 
sitting between A and C. The one, who likes black color is sitting third to the right 
of the one, who likes yellow color. P is sitting to the immediate right of R. P does 
not like grey color. B is facing the one, who is sitting second to the right of the 
person, who likes blue color. S is facing the one, who is sitting immediate right of 
the one, who likes white color. Two people are sitting between the one, who likes 
white color and the one, who likes orange color. Q and the one, who likes violet 
color are sitting in the same row but not adjacent to each other. The one, who likes 
pink color is facing the one, who is sitting second to the left of the one, who likes 
green color. The one, who likes pink color is facing the one, who is an immediate 
neighbor of the one, who likes red color. The one, who likes grey color is facing 
the one, who is sitting immediate right of C. D is sitting second to the left of B. The 
one, who likes yellow color is not facing the same direction as Q is facing.



T is sitting second to the left of the one, who likes grey color. Two 
persons are sitting between A and C. The one, who likes black color 
is sitting third to the right of the one, who likes yellow color. P is 
sitting to the immediate right of R. P does not like grey color. B is 
facing the one, who is sitting second to the right of the person, who 
likes blue color. S is facing the one, who is sitting immediate right of 
the one, who likes white color. Two people are sitting between the 
one, who likes white color and the one, who likes orange color. Q 
and the one, who likes violet color are sitting in the same row but 
not adjacent to each other. The one, who likes pink color is facing 
the one, who is sitting second to the left of the one, who likes green 
color. The one, who likes pink color is facing the one, who is an 
immediate neighbor of the one, who likes red color. The one, who 
likes grey color is facing the one, who is sitting immediate right of 
C. D is sitting second to the left of B. The one, who likes yellow 
color is not facing the same direction as Q is facing.
Who sits to the left of T?
a) Q
b) S
c) A
d) No one
e) None of the above



T is sitting second to the left of the one, who likes grey color. Two 
persons are sitting between A and C. The one, who likes black color 
is sitting third to the right of the one, who likes yellow color. P is 
sitting to the immediate right of R. P does not like grey color. B is 
facing the one, who is sitting second to the right of the person, who 
likes blue color. S is facing the one, who is sitting immediate right of 
the one, who likes white color. Two people are sitting between the 
one, who likes white color and the one, who likes orange color. Q 
and the one, who likes violet color are sitting in the same row but 
not adjacent to each other. The one, who likes pink color is facing 
the one, who is sitting second to the left of the one, who likes green 
color. The one, who likes pink color is facing the one, who is an 
immediate neighbor of the one, who likes red color. The one, who 
likes grey color is facing the one, who is sitting immediate right of 
C. D is sitting second to the left of B. The one, who likes yellow 
color is not facing the same direction as Q is facing.
Who likes red color?
a) Q
b) R
c) P
d) T
e) S



T is sitting second to the left of the one, who likes grey color. Two 
persons are sitting between A and C. The one, who likes black color 
is sitting third to the right of the one, who likes yellow color. P is 
sitting to the immediate right of R. P does not like grey color. B is 
facing the one, who is sitting second to the right of the person, who 
likes blue color. S is facing the one, who is sitting immediate right of 
the one, who likes white color. Two people are sitting between the 
one, who likes white color and the one, who likes orange color. Q 
and the one, who likes violet color are sitting in the same row but 
not adjacent to each other. The one, who likes pink color is facing 
the one, who is sitting second to the left of the one, who likes green 
color. The one, who likes pink color is facing the one, who is an 
immediate neighbor of the one, who likes red color. The one, who 
likes grey color is facing the one, who is sitting immediate right of 
C. D is sitting second to the left of B. The one, who likes yellow 
color is not facing the same direction as Q is facing.
Find the odd one out.
a) Orange
b) Green
c) Yellow
d) Blue
e) Black



T is sitting second to the left of the one, who likes grey color. Two 
persons are sitting between A and C. The one, who likes black color 
is sitting third to the right of the one, who likes yellow color. P is 
sitting to the immediate right of R. P does not like grey color. B is 
facing the one, who is sitting second to the right of the person, who 
likes blue color. S is facing the one, who is sitting immediate right of 
the one, who likes white color. Two people are sitting between the 
one, who likes white color and the one, who likes orange color. Q 
and the one, who likes violet color are sitting in the same row but 
not adjacent to each other. The one, who likes pink color is facing 
the one, who is sitting second to the left of the one, who likes green 
color. The one, who likes pink color is facing the one, who is an 
immediate neighbor of the one, who likes red color. The one, who 
likes grey color is facing the one, who is sitting immediate right of 
C. D is sitting second to the left of B. The one, who likes yellow 
color is not facing the same direction as Q is facing.
Who sits opposite to the one, who likes white color?
a) C
b) A
c) R
d) P
e) D




